=> restart

> Ecua = diff (y(x), x84) — 4-diff (y(x), x82) +4-y(x) =0
4 2
Ecua = %y(x) —4 [% y(x)) +4y(x)=0 €))
> Cond = y(0) =2, D(y) (0) =4, D(D(y)) (0) =6, D(D(D())) (0) =8
Cond == y(0) =2, D(y) (0) =4, D? () (0) =6, D) (1) (0) =8 Q)

=> SolGral = dsolve(Ecua)

SolGral =y(x)= Cle/2%+ 2¢V2 "+ 3¢/ "x+ cae V2 3)
=> SolucionParticular = dsolve( { Ecua, Cond}); evalf (%, 3)

SolucionParticular = y(x) = (\/7 + 1) eﬁx-i- ( —\/7 + 1) e_\/?x—i- % \/7 e\/?xx

— % J2 e_ﬁxx
y(x)=241¢""" 0417 10352 x — 03527 x @)

B plot([rhs(SolucionParticular), rhs (diff (SolucionParticular, x) ), rhs(diff (SolucionParticular, x
$2)), rhs(diff (SolucionParticular, x$3))1,x=0..1,y=0..20)
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=> ComCondUno = y(0) =eval( subs(x =0, rhs(SolucionParticular)) )

VAN



ComCondUno :=y(0) =2 o)
> ComCondDos := D(y) (0) =simplify(eval( subs(x =0, rhs(diff (SolucionParticular,x)))))
ComCondDos :=D(y) (0) =4 (6)
> ComCondTres := D(D(y)) (0) =simplify(eval( subs(x =0, rhs(diff (SolucionParticular, x
$2)))))

ComCondTres = D'?) (»)(0) =6 @)
> ComCondCuatro := D(D(D(y))) (0) =simplify(eval( subs(x =0, rhs(diff (SolucionParticular, x
$3)))))
ComCondCuatro = D" (»)(0) =8 ¢))
> ComprobacionUno = simplify(eval(subs(y(x) =rhs(SolGral), Ecua)))
ComprobacionUno :=0=0 )
> ComprobacionDos = simplify(eval(subs(y(x) =rhs(SolucionParticular), Ecua)))
ComprobacionDos :=0 =0 10)
> wi1]= 2 S ypi2] = e VX 3] i= &/ T (4] = e V2 ¥y
=2
wyme V2
_ N2x
yyi=e x
wme V2 (11)
> SolucionGeneral := y(x) = _Cl-yy[1]+ C2-yy[2]+ C3-yy[3]+ C4-yy[4]
SolucionGeneral .= y(x) = ClI /2 4 2 e VZry _C3e 2T 4 e e V2 (12)
> with(linalg) :
> wronskian([yy[1], yy[2], yy[3], yy[4]], x)
e e V2x e e V2ry

VZe?r yzeV?r JTelrxtelr T eV rise

3)
2¢V% " 2eV2x 2eﬁxx+2\/7eﬁx Ze_ﬁxx—2\/7e_‘/7x
22 P 2T e P 2T Pt 6eP 2T eV P x 6V
> ComprobacionLinealidad = simplify(det(wronskian([yy[ 1], yy[2], yw[3 ], w[4]1],x)) #0)
ComprobacionLinealidad .= -64 # 0 14)
>
>
>



